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=== Divergence theorem run time log : 20230518 095902 by F.Kubo ===
Jonds=Jp&ds + [onds + [¢lds

Mode= 1 Div. test= -1.02945D-10 -3. 77864D-11 3.80251D-13 -6.55392D-11  —HHEHEA Lo BHM=T —
Mode= 2 Div. test= 2.14235D-09 2.15867D-09 —4.19526D-11 2.56378D-11 BHREFIRMNT LT F—
Mode= 3 Div. test= 1.90920D-10 1.98622D-10 -3. 87745D-12 -3. 82385D-12
Mode= 4 Div. test= -1.62840D-09 -3. 13041D-11 -1. 60540D-09 8. 30759D-12
Mode= 5 Div. test= -4.41834D-09 -2. 40445D-09 -2. 00547D-09 -8.42035D-12
Mode= 6 Div. test= -2.87403D-10 -5.51503D-12 -2. 83334D-10 1.44607D-12
Mode= 7 Div. test= 4.66254D-08 8.95989D-10 4.59653D-08 2. 35921D-10
Mode= 8 Div. test= 9.58759D-09 9.69771D-09 —1.87859D-10 7.77479D-11
Mode= 9 Div. test= -3.19856D-08 -3.23552D-08 6.29280D-10 2. 59640D-10

Mode= 10 Div. test= 1.01436D+02 1.95001D+00 1.00000D+02 -5.13777D-01  <RERLRTF=T—ThD
Mode= 11 Div. test= 9.88558D+01 1.00000D+02 —1.94589D+00 8.01706D-01 WERNTNVT 1 RO
Mode= 12 Div. test= 9.97378D+01 -7.91408D-01 5.29209D-01 1. 00000D+02
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=== Divergence test run time log : 20230403 0630 by JCEAM F.Kubo ===
div-g = d(¢x)/dx +d(dy)/dy + d(¢z)/dz

Mode= 1 Div. test= -2.71484D-16 -1. 62094D-08 -5.31087D-09 2.15203D-08 < ERLEFFRIE Y BHRHRFD
Mode= 2 Div. test= -2.04697D-16 8.07810D-09 3.84135D-08 4. 64916D-08 EHE— FRE divd=0
Mode= 3 Div. test= 1.04083D-16 -3.17201D-08 7.25306D-09 2.44670D-08

Mode= 4 Div. test= -2.81025D-16 -5. 11870D-09 -1.58245D-08 2. 09432D-08



Mode= 5 Div. test= 2.86229D-16 -3.90724D-09 -2.32278D-08 2.71351D-08
Mode= 6 Div. test= 2.47198D-17 -2.23511D-08 1.28615D-08 9.48960D-09
Mode= 7 Div. test= 3.46945D-17 -7.32733D-09 -5.77396D-09 1.31013D-08
Mode= 8 Div. test= -7.97973D-17 -8.07045D-10 4.08026D-10 3.99020D-10

Mode= 9 Div. test= -3.90313D-18 —1.49179D-09 -1. 44359D-09 2.93538D-09
Mode= 10 Div. test= -1.04083D-16 5.24088D-08 —4. 39360D-08 -8.47284D-09
Mode= 11 Div. test= 4.85723D-17 1.42973D-07 -2.83670D-08 -1.14606D-07
Mode= 12 Div. test= -1.01915D-17 2.42686D-08 -1.40117D-08 1. 02570D-08
Mode= 13 Div. test= -6.54858D-17 -6.46535D-08 7.17915D-08 -7.13805D-09
Mode= 14 Div. test= 1.72605D-16 -1.16669D-07 1.93803D-08 9.72890D-08
Mode= 15 Div. test= -2.57498D-18 1.20789D-08 -1. 06252D-08 -1.45376D-09
Mode= 16 Div. test= 5.55112D-17 3.33550D-02 1.10688D-01 —1.44043D-01
Mode= 17 Div. test=-9.36751D-17 2.11389D-02 -3. 63766D-02 1.52376D-02
Mode= 18 Div. test= -2.49366D-17 -9. 04150D-02 8.86172D-02 1.79784D-03
Mode= 19 Div. test= 2.08167D-17 -7.79280D-02 1.59860D-02 6.19420D0-02
Mode= 20 Div. test= 3.81639D-17 6.06118D-02 -5. 78355D-02 -2. 77632D-03
Mode= 21 Div. test= 5.55112D-17 1.71744D-02 -1.55313D-02 -1. 64311D-03
Mode= 22 Div. test= 4.16334D-17 3.09812D-02 -1.98237D-02 -1.11575D-02
Mode= 23 Div. test= -1.66533D-16 4.44619D-02 3.34035D-03 —4.78023D-02
Mode= 24 Div. test= -6.00000D-01 -2. 00000D-01 -2. 00000D-01 -2.00000D-01 24 RITIREFREIENT VT 1 /¥
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=== Maxwel | edge element eigen, iteration number=== 5

Eigen value id= 1 2.74156D+08 2.63523D+03 (Hz) —ZEEE RO =ZERTEAET7 —ThH D
Eigen value id= 2 8.22467D+08 4.56435D+03 (Hz) BEABETT —IZIA7 ) T AP o EAEOMETHD
Eigen value id= 3 8.22467D+08 4.56435D+03 (Hz)

Eigen value id= 4 8.22467D+08 4.56435D+03 (Hz)

Eigen value id= 5 1.06993D+09 5.20592D+03 (Hz)

Eigen value id= 6 1.06993D+09 5.20592D+03 (Hz)

Eigen value id= 7 2. 41401D+09 7.81970D+03 (Hz)

Eigen value id= 8 2. 41401D+09 7.81970D+03 (Hz)

Eigen value id= 9 2.41401D+09 7.81970D+03 (Hz)

Eigen value id= 10 2.46740D+09 7.90569D+03 (Hz)

Eigen value id= 11 2.46740D+09 7.90569D+03 (Hz)

Eigen value id= 12 2. 46740D+09 7.90569D+03 (Hz)
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MAXWEL8 element eigen problem-01, iteration number= 9
4.85475D+03 1.10893D+01 (Hz) <« =FERXT7TEEELOMIL. EHEROEFHEREYD

Eigen value

id=

1

Eigen value id= 2 4.85475D+03 1.10893D+01 (Hz)
Eigen value id= 3 4.85475D+03 1.10893D+01 (Hz)
Eigen value id= 4 4.36927D+04 3.32679D+01 (Hz)
Eigen value id= 5 4.36927D+04 3.32679D+01 (Hz)
Eigen value id= 6 4.36927D+04 3.32679D+01 (Hz)
Eigen value id= 7 8.85557D+05 1.49771D+02 (Hz)
Eigen value id= 8 8.85557D+05 1.49771D+02 (Hz)
Eigen value id= 9 8.85557D+05 1.49771D+02 (Hz)
Eigen value id= 10 2.65667D+06 2.59411D+02 (Hz)
Eigen value id= 11 2.65667D+06 2.59411D+02 (Hz)
Eigen value id= 12 2.65667D+06 2.59411D+02 (Hz)
Eigen value id= 13 2.65667D+06 2.59411D+02 (Hz)
Eigen value id= 14 2.65667D+06 2.59411D+02 (Hz)
Eigen value id= 15 2.65667D+06 2.59411D+02 (Hz)
Eigen value id= 16 3.99229D+06 3. 18003D+02 (Hz)
Eigen value id= 17 3.99229D+06 3.18003D+02 (Hz)
Eigen value id= 18 3.99229D+06 3. 18003D+02 (Hz)
Eigen value id= 19 3.99229D+06 3. 18003D+02 (Hz)
Eigen value id= 20 3.99229D+06 3.18003D+02 (Hz)
Eigen value id= 21 3.99229D+06 3.18003D+02 (Hz)
Eigen value id= 22 3.99229D+06 3.18003D+02 (Hz)
Eigen value id= 23 3.99229D+06 3. 18003D+02 (Hz)
Eigen value id= 24 2.67123D+13 8.22576D+05 (Hz)
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